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H.O" NO, + - HNO, + H,0O
[H,0*] = [HNO,] = 0.02 =2x 10*M
0.01 M o045 5 LiOH -
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LiOH , »H20 Li* ., + OH

aq)

[OH]=[LiOH] = 0.01 =1x10* M
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pH=9 [OH]=10"M pOH=4 [H09]=10"M PH=3
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HI + HO -» HO" + T
[H,0*] = [HI] = 0.0005 M =5x 10" M
pH = - log [H,0"]
pH=-log(5x10%) =4-log5=4-0.7=3.3

o] Jlgd|

400 9 aio 0.81 g &5k a> HBT jao> Jslxe PH (risz g ougll 08 ] s

log 2.5 = 0.4 , 81 g/mol = HBr jasxll adgall alis)l of Lale
‘Jelzall (9 (n) Gl ©Ys0 336 ool
n = mMr = 0.81 g81 g/mol = 0.01 mol
Jolzall 9 (M) ol S5 camo|
M =nV =0.01 mol0.4 L =0.025=2.5x10"M
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HBr + H,0 - H.,O0" + Br
[H,0"] = [HBr] = 2.5x 10> M
pH = - log [H;0"]
pH =-log (2.5x10%) =2-log2.5=2-0.4= 1.6
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HCIO, + H,0 - H,0" + ClO,
[H,0*] = [HCIO,] = 8 x 10° M
pH = - log [H;0"]
pH=-log (8x10°)=3-log8=3-(0.9) =2.1
pH + pOH = 14
pOH=14-2.1=11.9
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MXV) gy = (MxXV) y
(Myoy x 0.06) = (0.3 x 0.04)
Moy = 0.2 M
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n=MxV=0.6x0.02=0.012 mol
828 )] Y50 228 o]
n=MxV=0.4x0.02 =0.008 mol
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